<u>DEPARTMENTAL INPUT</u> CONTRACT/PROJECT MEASURE ANALYSIS AND RECOMMENDATION

✓ <u>New</u> □ <u>OTR</u> □ <u>Sole Source</u> □ <u>Bid Waiver</u>	Emergency Previous Contract/Project No.
Contract	
Re-Bid Other- Legacy	LIVING WAGE APPLIES: VES 🔽 NO
Requisition No./Project No.: RQEL2000001	TERM OF CONTRACT 3 YEAR(S) WITH 0 2 YEAR OTRS
Requisition /Project Title: OKI Ballot Printers	

Description:

The purpose of this solicitation is to establish a contract for the acquisition of OKI B432dn-b Ballot Printers and associated consumables. The equipment is required by the Miami-Dade Elections department and will be used during the upcoming 2020 Election cycle and subsequent years as well.

Issuing Department: E	lections	Contact Person	n: Santiago	A. Pastoriza	Phone: 305-375-1084
Estimate Cost: \$997,06	50				
		- Funding Sourc	e: Ge	eneral Fund/CIIP	
		ANAL	YSIS		
Commodity Codes:	20549	20547			
	_	roject History of prev	-	· · · -	
			ct/purchase wi	th no previous history.	- DD
	EXIS	<u>STING</u>	4	2 ND YEAR	<u>3RD YEAR</u>
Contractor:					
Small Business					
Enterprise:	1				
Contract Value:					
Comments:					
Continued on another p	page (s): YES	✓ NO			
]	RECOMME	NDATIC	<u>DNS</u>	
	Set-aside	Sub-contra	ctor goal	Bid preference	Selection factor
SBE					
Basis of recommendati	ion:	·			· · · · · · · · · · · · · · · · · · ·
See bid document					
Signed: Santiago A. F	Pastoriza		Date sent to	SBD: 01/07/2020)
			Date return	ed to ISD Procureme	ent:

INTERNAL SERVICES DEPARTMENT

STRATEGIC PROCUREMENT DIVISION

Date:		12/13/	2019 red by ISD-SPD)		<u>ALLOCA</u>	TION RE	EQUEST	FORM		
То:			rement Liaisons of clier	nt departme	ents initiating a r	ew project	or with all	ocations in c	urrent contract	or pool
From:			ago Pastoriza; 305-375 nt Officer Name; Phone Number; Email A		tiago.Pastoriza	@miamida	ade.gov			
Contract Req. No Title:	l/Po	DI or Purch (Title of C	N/A <i>(ContractPool</i> or Reg. <i>Number)</i> NASE OF Oki B432dn-b pontract/Pool/New Proejct)	Printers	turn this doou	noné wiéh	the energy	anviata attac	shureute but	
		5. COI	nplete Parts A, B, an			nent, with	the appro		inments, by:	(Due Date)
Part A:	De	partme	ent: Elections							
٠			anager's Name: <u>Mich</u>	ael Johnso	n		Teleph	one: <u>(</u> 305) 4	99-8581	
Part B: 3	Sele	ct one	of the following:							
\checkmark	My	depar	tment is <u>initiating a nev</u>	<u>v project/pr</u>	<u>ocurement.</u> (Ple	ase include se	cope, market	research and co	omplete 3a-3e belov	N)
\square	My	depar	tment <u>does not need a</u>	replaceme	ent for the subje	ct contract	or pool.			
	My	depar	tment <u>needs a replace</u>	ement for t	he subject cont	ract or poo	ol. As suc	ch, my depar	rtment has cor	npleted all
	2	he foll								
	1.		ewed the attached cop ication requirements, a re;							
	2.	Revis	ed any and all estimate	ed quantities	s considering pa	st usage ar	nd needs fo	or the anticipa	ated contract or	r pool term;
	3.		ded all of the following i							
		a. N	ly department will use t	the resulting	g contract or poc	I to (<u>use at</u>	tachment i	f necessary to	o provide detai	led justification):
		-	Miami Dade County El							
		-	of Okidata printers, alc Election Cycle and sub				,		0 1	
		-			ars infough 20	23. Flease	See allaci		a more detail	
		-								
		D.	The Funding Source fo bool is:				General F			<u> </u>
		С.	Will Federal funds be u	ised to sup	port the reques	ed allocati	ion?: <u>No</u>	(Yes /No)		
		d.	Will PTP funds be used	d to suppor	t the requested	allocation	?: <u>No</u> (Ye	es /No)		
		e.	The allocation reques	t is, \$	997,060.00	for the		year term.		
		*	Allocations may be pro	portionally	adjusted shoul	d there be	140 ¹¹		roject/contract/	/pool term
Part C:	Арр	roval	by the Department Di	rector (or	Deputy/Assista	ant Directo	or):			
Departn	nent	Direc	tor:		/	TA)			
Print Na	me	Chris	tina White	;	Signature:	Ø	D		Date: 12	13/19

*This form must be returned to the Procurement Officer listed above.

Date: 12 13 19

Elections Department

Purchase of Oki B432dn-b Printers

Statement of Work December 2019



Table of Contents

Background	3
Product Specifications	
Consumables	
Warranty Requirements	5

Background

Miami Dade County Elections is seeking a vendor who can provide a complete solution including the purchase of the printers, the consumables (Toner and Drum) that will be used during an election. The OKI B432dn-b printer was selected because of the items listed below:

- 1. Experience with Oki printers in the past
- 2. Size of paper ballot needed to be printed (up to 8 ½ by 18 inches)
- 3. No need for color
- 4. Speed of printer including duplexing speed
- 5. Simplicity of changing consumables
- 6. Foot print of printer
- 7. Price
- 8. Recommendation from other SOE offices in Florida

Product Specifications

To be considered, any system bid must include the following minimum capabilities, functionalities and support.

Printer – Oki, Model #B432dn-b

- Up to 500 printers with an option to buy more in the future if needed
- Prints two-sided, black and White, duplexed, ballots up to 11" x 22"
- Use heavy paper stock of up to 300gsm
- Print speed 20 seconds per page or faster (duplexed)
- Time to first print 17.0 seconds or faster
- Resolution 1200 x 1200 dpi
- Supported OS Windows 7 or higher
- Extended tray, paper holder, and Firmware (Part# 91696101-7)

Consumables

- High Yield 12K toner type B5 Part# 45807110
- Drum Part# 44574301

2020 Consumable needs based on estimated voter turnout.

Item	PPP	Primary	General
17" Pages per Election	1	1	2
Estimated EV Turnout	360000	576000	600000
Estimated number of Pages	360,000	576,000	1,200,000
45807110 12K B432 Toner	300	445	1000
44574301 B432 Image Drum	37	59	248

Consumable formula from Oki

Formula works our as follow:

Standard yield (12K)/ 2 –this accounts for duplexing Standard coverage (5%)/ actual coverage Standard length (11")/ actual length

Using 15% coverage with ink of Page

(12,000/2)*(5%/15%)*(11/17)= 1,294 Pages of 17 inch paper per cartridge

			Covera	ge - Duple	exed)
OKI PART NUMBER	OKI MODEL NAME	*Page Yield (5% Coverage/Single side) 8.5 X 11	14"	17"	19"
91696101	В432DN-В	200,000 or 5 Years			
44574301	KIT: IMAGE DRUM TYPE B2 B411/431	30,000	11,786	9,706	7,857
44565810	FUSER ASSEMBLY 120v	200,000 (not designed to be changed)	78,571	64,706	52,381

Consumables to Order	Quantity
45807110 12K B432 Toner	(300 + 445 + 1000) = 1745
44574301 B432 Image Drum	(37 + 59 + 248) = 344

Warranty Requirements

• Equipment shall be warranted for the period of 1 year for the date of purchase shall be warranted against any defects or failures that prevent it from performing its designed function.

CONTRACT YEAR	DESCRIPTION	QUANTITY	ESTIMATED COST	AMOUNT
YEAR 1 1/2020- 12/2020	OKI B432DN-B PRINTER WITH TRAY AND FIRMWARE HIGH YIELD 12K TONER TYPE B5 PART #45807110	500 1745	\$612.00 \$128.00	\$306,000.00 \$223,360.00
	DRUM PART #44574301	344	\$155.00	\$53,320.00
				\$582,680.00
YEAR 2	OKI B432DN-B PRINTER WITH TRAY AND FIRMWARE	100	\$612.00	\$61,200.00
1/2021- 12/2021	HIGH YIELD 12K TONER TYPE B5 PART #45807110	300	\$128.00	\$38,400.00
	DRUM PART #44574301	37	\$155.00	\$5,735.00
				\$105,335.00
YEAR 3	OKI B432DN-B PRINTER WITH TRAY AND FIRMWARE	125	\$612.00	\$76,500.00
1/2022- 12/2022	HIGH YIELD 12K TONER TYPE B5 PART #45807110	1445	\$128.00	\$184,960.00
	DRUM PART #44574301	307	\$155.00	\$47,585.00
			I	\$309,045.00

PROJECTED ALLOCATION FOR OKI PRINTERS PURCHASE

TOTAL ALLOCATION REQUEST \$997,060.00

\$3U9,U45.UU